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SN SX™HD
M JZMESEH
telr 22309 SEX RY(LASAMNAZSHIISELESAH) (Ste: M S)
SA - B - GI(3H) - NRAY - LS Ofl ko ol F o CImE==}
SXEz 3,431,890 3,370,350 61,540
= 420,480 420,480 0
= 78,015 78,040 YAV2S)
Al 2,933,3% 2,871,830 61,565
=M 3,381,135 3,370,350 10,785
= 420,480 420,480 0
= 78,015 78,040 A5
Al 2,882,640 2,871,830 10,810
=0 88 2RI (LEANAZTSUHIISELSNA) 3,381,135 3,370,350 10,785
= 420,480 420,480 0
= 78,015 78,040 VAV2S)
Al 2,882,640 2,871,830 10,810
OIS SRR HMBAZE(HEAYI) 19,250 19,300 A50
= 7,700 7,700 0
& 5,775 5,800 A5
Al 5,775 5,800 VAVZS)
202 04d| 14,250 14,300 A50
= 5,700 5,700 0
& 4,275 4,300 A25
Al 4,275 4,300 A25
01 =04l 14,250 14,300 A50
O2dz2=0 FF& oddl
ZE 3,550,000 14 3,550 3,600 AB0
= 1,420 1,440 A0
& 1,065 1,080 A15
Al 1,065 1,080 A15
O2dz2=0 gRFX HHl(S2H)
44 10,700,000 14! 10,700 10,700 0
= 4,280 4,260 20
& 3,210 3,220 A10
Al 3,210 3,220 A10
olZ=20HIZ(0E3) 2,844,765 2,833,930 10,835
308 AXIHMSO0I& 2,844,765 2,833,930 10,835
07 HXSHIRES 2,844,765 2,833,930 10,835
O30 A2MERXHl AMHIRES3
ZE 7,420,000 x 14! 7,420 6,770 650
O2=220 LAESLEZHI AMHIRES
Z&E 190,000 14 190 160 30
02024 o2z 0HIS(HE3) A2RE3
10, 155,000 & 14| 10,155 0 10,155
Hees (=SR2 50,755 0 50,755
BEIE(QZ)(ZEANAZS0HII2ELSIA) 50,755 0 50,755
I ZMERRE ITHIEXZ EHa 50,755 0 50,755
802 gtet=zJ|E 50,755 0 50,755




2A:

Nu: RES(2NEY)
ool BRXE(R)(LSACI2Z0DIZSEEN) (ol @)
SN - BB CRI(BI) - NISAY - BaS Ol bt ol H o HlRE2
NEREEE=TE= 3,470 3,470
O o230 2H|2EZ prat
36,469,840 %141 3,470 3,470
2 Al - CHISZ 38183 8,759 8,759
O 2230 THI2ES vha
8,758,350+ 14! 8,759 8,759
3 DIEtEHE2S 5,526 5,526
Oz S12301 12149 grat
5,605, 7302 14] 5,526 5,506






